BSAA Final Exam 2016
True and False (12pts)

T 
your weight is always given in beef judging

F
Lamb judging has a dirty word of Fat

F
Lamb judging takes into account quality and yield grading.

T
Yield grading tells you a Quantity 

F
Marbling has everything to do with Yield grading

F
In pork judging you have to look at break verses spool joints. 

T
Identification of primal cuts will help you evaluate the overall carcass.

F
A 500 lb carcass should have a 9.5 sized rib eye. 

T
Carcasses naturally have some KPH found within them.

F
The color of the lean tells you nothing about the age of a carcass.

T
Combining age and marbling gives you a good idea of the quality grade

F
You consider how much fat is around the carcass for your quality grading

byproduct

additional processing beyond the original intent.

 

Intramuscular

where the taste in a cut of meat comes from
 

Intermuscular fat 
this is fat around the muscle groups

Marbling

This is fat within the muscle

Quality grade

It tells how good the meat will taste based off of marbling and age 

Rapid Growth Time
the point on the growth curve were you have the easiest 

doubling weight 

Subcutaneous (sub-Q) fat 
fat around the body, under skin

 

Yield Grade

tells you a quantity of lean muscle tissue. 
KPH 
Kidney Pelvic Heart 

PYG 
Preliminary Yield Grade
 

PSE 
Pale Soft and Excudative
 

YG 
Yield Grading
 

 To find yield grades you must complete the following equation:  (10pts) Fill in the letter A for this number. But still complete the chart: 

____ thickness  3.2

adjusted up because you were on a large divot

carcass weighted 800 lbs

you though the ribeye was larger than required and adjusted up .3 tenths

you also thought there was an average amount of KPH




1. Complete the following chart:  (10 pts) 
Fill in the letter A 

	Weight
	ribeye
	Weight 
	Ribeye
	Weight
	ribeye
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 Color of the lean muscle tissue: 
     The maturity level:


slaughter wt. 


_____cherry red__ beef

_YG QG_____
__1200_____


_____reddish pink_ pork

_YG___________
___250_____


_____pinkish red__ lamb

_YG___________
___125_____

Questions regarding the growth chart. (9pts) 

 









 


Explain why the chart does not start at 0,0 

Each animal has a starting weight at birth
Why does the line …. Slide a little on the back side of the chart? (2pts) 

muscle degeneration

Muscle is nothing more than _______ ________ _________ with no fat. (1pt)

lean muscle tissue

Another name for the ribeye muscle is the _____________________________ 

Longissimus dorsi

Yield Grading deals with muscle and fat and is strictly a ______________ 

quantity 

Quality Grading deals with types of fat and is strictly a ______________ 

quality

In order to get higher muscle growth – farmers increase the amount of ____________ they feed their animals (1pt)

Protein

Female Reproduction:

What is the site of fertilization in the female reproductive tract? 


Oviduct 

What is the side of Natural Insemination in the female reproductive tract? 


Vagina 

What is the site of  gestation for 283 days in bovine? 


uterus

What is the site of artificial insemination in the female reproductive tract? 


uterus

What is the site where the bladder empties into? 


vagina

Hormones: 

What hormone stimulates ova cycling in the ovary? 


LH 
What hormone stimulates the development of a follicle? 


FSH

What hormone is the normal female sex hormone? 

Estrogen

Which two hormones are added to increase the number of OVA that come into cycling?       LH

FSH



Which hormone do you inject first to get all the females onto the same cycling routine? 

Estrogen

Where does the Estrogen trigger come from

Ova

What is an Ova: 

Immature egg

Explain Ovulation

The cycling of a female 

What is a follicle

The envelop that helps to mature the ova

What structure triggers the release of  progesterone 

Corpus Luteus

What is estrus? 

The period a female is able to breed and then maintain a pregnancy.

Into what structure does the egg drop after being released from the follicle? 

Infundibilum 

From where does the Corpus Luteus Form

Follicle

In cattle, where does the pregnancy go to full term

Uterus

Explain the cervix – describe it

 A strong muscular muscle designed to protect the offspring while in the uterus

Within what structure does the ova mature to the ovum

Follicle 

Which structure has the finger like projections that move the egg down toward the oviduct?

Infundiblum

Why is progesterone important to the female

maintains the pregnancy

The vulva is the external opening to the _______________tract


urogenital

____________exits through the urethra into the caudal vagina and then out the vuvla

Urine

During what two period of time does  the cervix  “open”

birth and heat (cycling of the ovary) 

________ is “Y” shaped

Uterus and Uterine Horns

A hallow muscular walled organ line with epithelium that can expand dramatically to support the developing fetus

Uterus

Super Ovulating Females: 
When working with females to try to get them to cycle all together, inseminating only the high quality females with high quality sperm, how long do you wait until the zygote forms to flush the donor cow? 


6-8 days 

After the embryos have been flushed, where will those embryos go? 


Into recipient cows to carry offspring to parturition 

For swine – where does gestation take place? 


uterine horn

For swine – how many ova are released in one cycle? 


up to 15

Swine reproduction has a major different when comparing to bovine. That different is 


the corkscrew shape of the cervix verses rings

T
Swine reproduction releases higher levels of all the hormones 

compared to bovine. 

F
An increase in LH will increase the number of follicles  that 

develop directly 

T
More semen is deposited in the swine female tract because they 

require more to fertilize the present eggs. 

T
The swine female cervix will actually clamp down on the tip of the 

penis or insemination gun? 

T
Manipulation of the female reproductive system begins with 

progression hormone shots. 

. 

What is the most popular way to store semen for long periods of time: ___________ 

liquid nitrogen 


_________ is the stage of estrus when a female stands when mounted by another animal. 

standing estrus


Collection of semen requires the artificial vagina to be _______ F (33 to 34°C).  1


95-98


BSAA Male Anatomy 

T
X chromosomes contain 4% more DNA than Y Chromosomes

F
Frozen Sexed semen has not been used, and is therefore not an option.

T
The seminiferous tubules are structures in which the sperm are stored and 

produced. 

T
There are some risks for manipulation of the reproductive system. 

Section 2: Multiple Choice 42 pts

The semen is a combination of liquid from the ____________ and the spermatozoa from the ____________


seminal vesicles, testicles 




The sperm must remain in the ______________ for up to 45- 50 days for maturing to occur. 


epididymis 


 

The sperm cells are actual the male _______


sex cells 


 

The Length of the epididymis is ____feet long


45-50 




What materials kill the sperm cells upon contact   (….circle all that apply)


water 


urine





sunlight

air
ALL ABOVE
The liquid comes from what two sites:


prostrate, seminal vesicles 
The job of the cowlper’s gland is to


clean the urethra to remove all urine that could kill the sperm cells

Castration by ________ is the most effective way to castrate a bull if the testicles have decended.

knife
The knife method is only effective when the _____________ is cut


spermatic cord




The semen consists of what two parts: (circle the two parts)


spermatozoa

protein liquid



Scrotal hernias are not common but do occur – what are they?


the dropping of the intestines in the scrotal sac, limiting nutritional digestion

The muscle at the top of the scrotal sac that prevents scrotal hernias from occurring is called 


inaugural ring




The _________ muscle keeps the penis within the body during normal functions


retractor




What is it called when an animal still have one or both testicles inside the body cavity?


cryptochid

the two parts of the male reproductive tract are: (circle the two parts)


secondary sex organs

testicles



what are the two things that the testicles produce: (circle the two parts)


testosterone


sperm




The site of sperm production?

testicles




Sperm Motility means what? 



movement





the cleaning site for the urethra in the male body?

Cowlper’s gland
the site of maturation of the sperm cells in the male body?






epididymis
Maturity.





Marbling





 Marbling





Weight 





Rapid Weight Growth 





Time.








